-+ = 02 = e AR TEERMIICILERRRM () OHFERATIIE REBBICERELLHRIZIIZAATEIE
20254 AF)IERER AEE) GREETE-RER MR R B O AL DI AT, KRB EEHT Aol _
4A . 54 ATIE =0 . 67 ATIEl =0 . 71 ATIEl =& . 84 ATIEl =0 Bz 9A =0 e
g el FEEATE la|m|® I s Rl I =W I L PSS (TIPS Raor-wedill I =0 B L ppa|oma| TFESD TN | B | me| ¥ psh|ma| FEEETERL N g e IT] P R i
[HIPS ERAH(~68) [HES [l PR HES i1 A 2L BE 2
2 | Kk 2 | £ 2 | B 2 | Kk 2 | £ 2 | &
3 | K 3| = 3 |k 3 | K| 318 3|k
4 1% 4| H 4 |k 4 | &% 4 1R 4 | K IB&Yr—)
5 | & 5 1 A 5 | K 5 | £ )% 5 |k 5 | & EES
6 | B 6 | Xk 6| £ 6|8 6 | /K SHEFH 6 |+ IBZ&(-51)
718 [EZTTE N 7 1k 1l x 718 JAES FREHFH 718
8 |k 8 | K g | A 8 | & 8 | &£ EHEFA 8 | A
9 | K 9 [ £ 9| A 9 | Kk 9 | = 9 [k
10| K 10| & 2258 PTARS] 10 | T AR D R A 10 | K J# 10| B 10 | K
1| £ 1|8 11 ] K 7 AR D R A 1] £ 1% 11| B WA -1EERE 1] K
12| £ 12| B ik 12| K T AR DR A 12| £ % 12 X 12| £
13| B 13| & 13| £ 7 AR D R A 13| 8 13| K 1EE RS 13| £
14| B 14 | K 14| £ T AR D R A 14| A J% 14| K 14| H
15 | & 15 | K 15| B 7 AR D R A 15 | o & BOAB 15| & 15| B HEDR
16 | 7K 16 | £ 16 | A 7 AR D kA 16 | 7K 16 | £ 16 | X
17| K 171 £ 171 & PREE 17| K |J& 17|18 171 K
18| £ 18| B 18 | 7k PxREE 18] £ 1% 3 E N 18| A 18 | K
19 £ 19| A 19 | K PREE 19| £ I% EERE(~8/31) 19 |k 19 £
20| B 20 | 20| % 20| B 20 | 7K 20| £
21| A 21 | K 21| £ 21| B BOAB 21| K 21| B
22 | W 2| K 22| B 22 | i 2% 22| H
23 | Kk 23| & 23| A HREBERENH) 23 | Kk 23| £ 23 | & EYOY:]
24| K 24| £ R 24 | i 24 | K% 24| B 24| K
PES 25| B ERBE 25 | K 25| £ 1% 25| A 25| K
26 | 26 | B Sk 26 | K 26 | £ % 26 | & 26| &
27| B 27 | & 271 & 27| B 27 | K 27| £
28 | B 28 | 7K 28| £ 28 | A I# 28| K 28| B
29 | R oYE] 29| K 29| H 29 | X % R IES 29| A
30 | K 30| & 30| B 30 | K 30| & 30 | X
31| £ 31| K 31| B

iHiE EE =& iHiE =& =& iHiE =& HiE EE
TFHAEH 6 0 FHAEH 5 0 FHARKEH 8 0 THHRKEH 5 0 FHAEH 1 0 THAER 4 0
KEWEH 2 0 KBWER 2 0 KEWER 6 0 KEBWEHR 4 0 AEWEH 4 0 AKBWER 4 0
FH RS #DIV/0! FHEBEL TS #DIV/0! Ed=pS TR #DIV/0! FE SRR #DIV/0! FH RS #DIV/0! Ed=p2 RS #DIV/0!
1K B & BB T 1 #DIV/0! BB BR R T #DIV/0! B R BR R T #DIV/0! BB BR R #DIV/0! I E R B R T #DIV/0! T BB B R T #DIV/0!
10A FHE = wE 11A8 HE =4 wE 12R FHE =4 wE 1A FHE =4 wE 2R FHE =4 wE 3A HE =4 =

— (K& % -1 R — (K& % -5 R — (K& % -1 R — (K& % -1 R — (K& % -1 R — o= (K& % -1 BRT
B | B =G s Heetc) B | & Heetc) B | B Hetc) B | B GG Hretc) B | B GG Heetc) B | = |#ze| s KEe Hretc) ERRKER
HER EA 1Al [HES 118 118 mER EE
2 [ X = 2 [ & 2 [ £ 2 | B 2 | B 3/11K4K
KNEAE 4 YRTIATAN b 3| A XD HE 3 | K 3| = 3 |k PN 60
4 | & 4 | K 4 | K 4| B 4 | K FEXREER 4 | K ERARD
518 5 | 7k HEIE 518 5 | K BEXRES 5 | K SRAHO ]
6 | B 6 | K 6 | 6 | X 3FH RN 6 | £ FEXREER 6 | £ HEFXE
APAF AR EE o) 718 AER 7 [+ 7 [+ 0
8 | Kk 8 | £ 4 B57/—Q 8 | A% 8 [ K 8 | B 8 | B
9 [ K 91 H P E 9 | & 9 1A 9 1A HE¥E ABEKER
10| £ 10| B ik 10 | 7K 10| £ 10| X 10| X ETE
1] £ 1% 1] k1% ESE: 1|8 11 [ K EERZ0OH 11 [ K BEFE
2] B 12 ] K TR BB DR, 2] & 12| B RADH 12| & 12| & 44
13| A ZAR—YNDA 13| K 7 AR D R A 13| £ HFAKS 13 | % 13| £ 13| £ BEFE
14 | ) 14 £ 7 AR D kA 14| 8 HAKE 14 | K 2HEXRER 14| £ 14| £ EXS
15 [ K 15| £ 7 AR D R A 15| A HFAKS 15 | K & IREXREE 15| B 15| 8
16 | & 6] 8 Farmmonka| |16 & 6] 2 SEEREE 16 | B 6] B 0
17| & 17| B T AR DR A 17 ] K 17| £ 17 | X 17 | X
18| £ 14 18| & T AR D R 18 | & |# 18] B 18 | 7k 18 | K
19] 8 19 [ K PEREE 19 | £ |# 19| A I8 19 | K 19 | K BT *hEE S
20| H 20 [ K HRES 20|+ 20 | & 20| & P IES R YOLE] ETE
21 | e 1% 21| & PREE 21| B 21 | K 21| £ 21| £ BEiRH
22 | K 2| & 2| B AES 2|8 2|8 Hi
23 | K 1% 23| B BB 23 | X 1% 23| £ ¥ 23| A XEH4EH 23| A
24| & 24| B REKAE 24 | K 24| £ NIKKEI CUP K& 24 | Wk 24 | X EZ
25| + 2BANL—KE 25 | X% 25 | K 1% 2SR E K 25| B NIKKEI CUPAE 25| 7K 25 | 7K
26| H £AXRNL—KE 26 | K 26 | & K F{KE(~1/5) 26| B NIKKEI CUPAZ 26 | K 26 | K 0
27| B 2EANL—KS YAES 27| £ 27| & 21| & 27| &
28| X 28| & 28| B 28 | K 28| £ EEXDBHE | 28| £
29 | K 29 | £ 1% 29| A 1% 29 | K 1% 29| B
30| & 30| B 30 | &k 30| £ 30| A
|l le=e 1 1 1 OO 31 ] 7k i/ +Fle=e ! 1 1 OO 31 [ &

= B EST =@ L == ST ES ) =
FHREH 6 0 FHREH 9 0 £ H 0 FHREH 4 0 FEHREH 4 0 £ H Kz 0
AEAXEH 3 0 AEAREHR 6 0 AERER 0 AEAREHR 2 0 AEAREH 5 0 AE1 0
T O & BB e T 1 #DIV/0! T H BT #DIV/0! Ed=F2 T D) #DIV/0! E=F2 T TR #DIV/0! B2 TR #DIV/0! B2 TR #DIV/0!
1K B SE BB R T #DIV/0! BB #DIV/0! AR #DIV/0! AR T #DIV/0! AR T #DIV/0! AR #DIV/0!




